ol
XS
ol
o8

dig
Nfo

B
T

ojn

-8 =2+2i

©)
@ 39] 5]

2 0o]tt.

== Ne)

T

® V=2 & &85olt,

It

o

tol =3 o] = 4= £ V3

S

® A&



2. x=1+V2iy=1-v2i @, 2 +y? 9| g F5FH?

O -1 @1 ® -2 @ 2 ® -3



3. x=3+2 <4 x®-6x-10 2 FZ FSHA Q.

e



4. =102 B 0, kg F AT} 347} H 5 AL S

-2, — V2, 2i, -2i
3i, —=3i, 1—-i, 1+1i

@ 17 @ 274 @ 37 @ 47 ® 57



1+2i 1-2i
5. x=1+42,y= +.171= .l
1—1 1-1i

A o xy + xz 9] &S FFopA?

O -1+3i @ -1-2i @ -1+2i
@ -1-i ® -1+



g 1

6. x=1998, y=4331 & uf, :
y—xi x-+Yyi

Do @1 ® -1 @ i



=

Ulo

Z 97| ore Ao9

D —29] Ao

® VX VI = - VD)

o VI

oo
® -5

© —V-16=—4



off thate] (x+yi)(1+2i) + (xi—y) (=1 —i) = (y+i)
7t Adsd o, AEFHEAAN H (x, y) 2 BAHE EFT 1 F, yFO0=2

Q] 8% x,
Selxel R Yol 2 atu?

1 1 1

1 — - -

@ ® ; ® ; ®

D 2



9. A kol dote] BEAg o =3(k+i) —k(1-i)% 9] gto] «3]571 2
o, z-z o] #h& Fstefk

D S
=%



10.

j
54

a

(x+yi)(z—i) =10 ¥
o) & Fotedet. (2 i= V-1)

Ct
=

A

=
=

St A vy, 29 4% (xy.2)



11, 2= -1 1), (n+ i)t o] A7} HES sk A% n o] A4

@ 074 @ 174 @ 271 @ 374 ® 47



St 2)20] AelZ , o) gES Fotolat,



. : 1\* 1 1\? o o
13, a=1+i,b=1-i9d, (2] +—+(5) o g Fshw?
a ab b

®

N

@

W =
N —

1 1
®-; @-; ©



@ 1-i @1 i

® 1+



15.

i1



16.

A5 a, b ol B3kl VoBx VEx V3 V_—_Vg+

tol a + bi O] B2 EH o, ab O] B& 5tz

5 Rog
3%

V6
\/__3

2 g

4



. A\ 3
i(x+i)Po] dpd wf, A x o] gho= 4] 42 Ae

17.

@ 1

@ V3 ® -V3

@ o



® a?<0



TFr=a+bi% BHELT T =a-bi 9]

4

a

@ 2b ® 0 @ 5a

ON’



20.

x:l%\/gl Ao, x* —3x3 +3x-2 9 Zk&?

D 2+ V3i @ 2-V3i ® 3+ V3i
@ -3+ V3i ® 3- V3i



21.

A = \/x+17_ x+1
e ol gfsted, Y — (/X0 o)

o] & FIY (&, (r+ 1)(x-2) #0)

@ 2x-1 @ -2x+1
@ -3 ® x+1

AETH, |+ 1]+ [ x-2]



22. oleEeiof diote] i +i? + i3 + it +i° + %S 7Es|sHAE?

D 1+i @ -1+i ® 2i
@ 2+i ® 2



ax? + bx + ¢ =09 Zo|t},

L=

iz

ol

i

>+ bx+c =09 ZoJt}.

— 1
-z ax



>,
tlo
[ I
n
k=l
ru

P

rlo

v
I

@D a?+p2=00°Ha=0,8=0o0]}.

© af=0°Ha=0%E=p3=0 0|t}

© a=p¥¢M™, ap=00°Ha=00|ct

®a
@66

@ ©
® Q0,6

® QG



® V5

@ 2

® V3

@ V2

D1



